EARAROBREBRT —5 XN—ZXBISH—F

202318158 (B) 1BUVE2H

R 2BISR YSR4mE (BS

(48)

EE

BRI

[A&=%] 1 7% :15,500,000 §  237&:6,200,000 .~ 375:3,900,000 43&:2,300,000H  53&:1,550,000

B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
= s BEEETT : -1-1- BENE (FER)
117112 F—F—3 U2 [B] # 5 B2 N 1.(4&3).4 1-1-1-1 | 38.1| 99.9 8 (4::) et
R:VvRIVIA B:N\O—AN—Lwv b TFHOKS
— BEXCF :48. -8-8- . . HHEE (FEFR)
IR =02 8 5 B 1(14/82)5 8-8-8-8 |34.4| 98.5| 5 z:g)z et
RiFRXF 7Yk T wis
SY o~ = FaMEL : -4-5- RERX (F=R
3B 4| VavIn—2nq w5 | BE e T IR il Il B I >~
R:RwSAYTF B:YVavhyFERS /=Y T7—L
P Lt 5 | ATk 1:48.7 7-6-6-6 | 35.0 | 96.6 | 11 432 | FIEE— GEH)
41815 RO —bTIb—L ! 5.0 {1 1/4) ) | @ BSTLYRIST-ST17
R:d=ILRY YT B:ORENILNS vy RI7—L4
5 ~ t o8 | EEIARL 1:48.7 10-8-6-7 |34.9] 9.5 | 13 | 464 |GBTF FN)
51713 XM ¥3avhIoY 58.0 (F9) (-4) | HAREFLE
RYISH—AY B:o—LIIY Ty hRF—TI
= 4 5 | FRER 1:48.7 4-4-2-2 | 35.6| 96.7 | 10 | 514 |#BREE ()
] 6| OXARILTTS 5.0 ) o | 957Uy roST 5747
R:ZAIJU—=rbe—0O— B4 XT7IFa—)b EvIUy RI7—L4
<R il : -2-2- StERe (FR
7158 | VOYRDAU7— "5 =R (17'4;% rrra | %61 9%7 2 (4—96(; 1EM— R
RIRVIATAVIIFUT— B:IAYU—TLAR #HBT7—L
g —S55mS # 5 | B. LLYNT 1:49.0 5-6-8-8 |35.0| 93.5 | 9 | 466 |/IFHEE (FH)
8 21¥2 SI975 58.0 (1 3/4) 0) BEEE
RI—5—vvF B:E—ZvJI- FRERS
3= ~ A s 5 | EHEET 1:49.2 15-15-15-12| 34.0 | 91.4 | 6 | 480 |t7RiE (R:W)
9 Eax AW 58.0 (1 1/4) () |EREM
RIIET7RAT7 B:y—I3— ==t
s EFChISRER : -2-2- ZHAE (FER)
10KY 5 | ROFDT3a)L/ 550 1'2‘19)'3 pr2 62| 083 (‘_1?3) ;jz\ﬁ%%
R:Od—ILRY YT B:UNLERS Y b MER Y R
~ e~ S ty 7 | NGRS 1:49.4 13-13-13-12| 34.7 | 89.5 | 15 | 452 |/\&= (R=F)
1 7|\ TIWFVTT L 58.0 1/2) -4) éﬁ%%
R:O-RFVISL B:TIVYTST— VBN OBERES
3 —_ _ % 4 | SHEH 1:49.6 14-14-14-15| 34.6 | 87.5 | 4 | 474 |BIEE &N
1218 (14| 7 VO—XX VU 57.0 ) *2) moET
RVIWN—RF—K B:L—YSA hRA EBLTe]
3 = 7 | REME 1:49.7 11-11-10-12| 35.4 | 86.6 | 12 | 466 |HZLIEEEA (ER)
13010 ¥—YTAST 58.0 it vy |BETR
RiF4—=TFAVNITN B:YUFPAPZTF4Ta1—R #HE77—LA
. . 6 | MBERS 1:49.9 11-11-10-10| 35.6 | 84.6 | 7 | 452 |SFHE— &N
14111 | ITILTRA 56.0 (1 1/4) © ZERE
RiFRF BNAIIVRIAI RIS
o 4 | WEIES 1:50.6 8-8-10-10 | 36.3| 77.9 | 14 | 466 |HIIIEZE (555/H)
EH 3| NARIVTIVHR * 57.0 @ ) | Y57y kD57 5747
R:5TU=F4 B:E/TSY BRI ITIN—RI—-XT7—L
[ BN
En'y 50.1-38.1
NOYIAL | 12.4-10.9-11.7-11.6-11.7-12.0-12.4-12.6-13.1
@ 11— —BBIEIL
13—7F— 12-(5,8)6(2,4)15(3,9)13(1,10) 7-14-11
20—F— |[12=(5,8) (6,4) (2,15) (3,9,13) (1,10) 7-14-11
Ia=5r= 12=(6,5,8)-4(15,13) (2,9) (3,1,10)-7,14,11
40—F— 12=(6,5,8)-4,15,13(2,9)-(3,1) (7,10,11)14
o ILRE
BB 12 1,880 JA R 9-12 4,180H & 5-7 3,430 3EE 4-9-12 16,470M
B B 12 510M 4-12 1,810 5 & 9-12 14,9704 3Es 12-9-4 128,370M
9 270 4-9 5504 oS- 12-9 24,850
4 140/

ABIC OV TRUTEREERRODDZE. THRIIZEL.




